College Algebra — Joysheet 3 Name: S"k“ﬂ Ocpans

MAT 140, Fall 2016 — D. Ivansié¢ Covers: 1.5, 1.6 Show all your work!
Solve the inequalities, Write your solution in interval notation.
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3. (6pts) Find the domain of the function in interval notation: f(z) = 21:5 ::ﬂ: ;
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4. (l4pts) Luciana has $8,000 to invest and can split this money between an investment
bringing 4% interest, and one bringing 3% interest. What is the least she needs to invest at
4% interest in order to meet a goal of annual interest of at least $2907?
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5. (ldpts) Paul traveled to Lexington at 70 miles per hour. On the way back, he took the
scenic route and averaged 55 miles per hour. The way back was 86 miles longer and took
2.6 hours longer to drive than the way to Lexington.

a) How long did it take to drive to Lexington?

b) How long is the scenic route from Lexington?
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6. (14pts) How many liters of water must be mixed with 4 liters of a 22% solution of
muriatic acid in order to get a 12% solution of muriatic acid?

ﬁaﬂ 07, 54 J szﬂp L5 ﬁbw'{ai L./q}’tf-qa'uw’!
41 t t =
’ - Need 35 bikey of e,

0014+ O-x = 0.(x+9)
0.%8 :O;EZ()(-'A—)
0.6 = Ol + 04 |~0.47

O;K[ L O'.'[?Hﬁ

@‘4# '_-":f?_',
X= m~%,33

bk,

LY




